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Exercise 43 A hat contains 1000 random numbers in it. Only two of the numbers are prime, and the rest
are composite (not prime).

—

(1) What is more likely to occur if we pull 1000 numbers from the box with replacement

e Less than 2 prime numbers are pulled

¢ Exactly 2 prime numbers are pulled

e _More than 2 prime numbers are pulled

(2) If we repeat the 1000 pulls just like the previous question, but this time do it twice in a row (so, do 1000

pulls with replacement; and then do a second 1000 pulls with replacement); what are the chances that

we get the same number of prime numbers in both 1000 pulls? (e(«kvv\qk U?\V“;} 'Po':.\sm\\
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Exercise 46 Suppose you go to a small fair with 9 of your friends and you each purchase 10 tickets in the
fair’s raffle. Later on, you found out, your group of 10 people were the only people to purchase tickets for the
raffle! Out of the 100 tickets bought, 3 of them will be chosen randomly as winning tickets.

(1) What are the chances one person will get all 3 winning tickets?

(2) What are the chances that 3 different people will win something?

(3) What are the chances that 2 different people will win?
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